HERSO—F X 4 N G 5 EBES

GA EEREE T R FA3-1 T X 13

HRIRET/KES

e A% F T4t T 2

(

32

33

34

BRE E F B W

R — L

| 1 1

A
AL

———

o

|
.
|
I
|
I
|
|
|
|

o

| |
l 1
| |
| |
| |
L

\ o
1 l
| .
| |

l

50M

FEETE s=1:100

NO. 182
(EEMTTERRER - F/71BHR)

\r\l\‘:F GL=11. 328
As
Co As /\\ /
AvA
=
/
o
©
RCES A2k

EEEER s=1:50

—-————~":r'—-———_‘\’_f__.__.—-———-l _———T ————— L

RCES A >k

SN

: |
N
|
nl NS
. | : N
0=4.249 v .- 494 J,_
b=1 .72 : { _
vy || ke
L T e oo a - - -
— T — — 0> — - — 1 —— — I H.,_,__C_/;_L _____ J______&_____JJ____'Q}E__D‘_,// \-%\_.__.._._L.J.____.._EL._:_._.___LL_.___LJ._._-.._.'__. .
: of > - = . ” NO.182 NO.183
b5 ‘ hog! EBHHEERE - ¥ s BR e 03700 0.8% 215.420m o
2677 ' _ _ -
l g ) j} ] T ls . ’2? N E—
MA"2 _9 \7/ L C_.—.—'.—.—_ .

]

A
W W
A &
o O \)
’@ ’@ 0 A
&«
15.00
10. 00 |
5.00 |
0.00 |
o _
\YJ (=}
é’@ = ~5.00 |
0 g
7
H=1:1000 |
DL=-10. 00 |
03700 1.6%0 193.734m 03700 0.8%0 215.420m
BITX 43-1 TX  609. 806m 42 TR
&5 AR Q) EEth 5 EHEE - F I ®
EEEE C
| | | | | | | |
(@) (] ~ © <t Lo —
+ i Y S S o b = 3 =S
~ ~ ~ ~ ~ ~ ~
| | | | | | | | |
< < o ~ o) o o~ ocoooo
oA = 3 & 2 ® S 3 S oo~
| | | | | | | | |
Lo © [ee]ee] o (o] Lo [ap) D D
o o S = 22 X < S &3 = S &
TEE 9 < 5 S < 9 < ¢ 77
| | | | | | | | |
o o — o o o o —_—e—o
[e) o ™~ [e) o () o <TANMNMLOO
. " o o ~ o o (=] o SOHANANNO
B hnEEEH o o © o o o o R3S
Lo (] N Lo o Lo o g T IO
(o)) o (=) (=) — — N ANAONAON AN
| | | | | | | | |
o o — ) o o o — NN
[e) o ™~ N o [«) o <O r—r—<t
- (=) o ~ N o o o OANOO~
[X ] BE B o o © - o o o ——SS©
Lo o N N o Lo Lo < htd
| | | | | | | I1 |
. = S P © e < 2 8882
A R = o Q S o S = SToa g
= = + = = = = +0ONU=

Hh#Z X
fERL
A

R 0

m e 1 &

Rl

_m ‘"ll




MERST—F| X 5 8 5 N E | BEES FHERJIGRET/KES » > 3
GA &R s R w4 IR 14 ﬁﬁEQZZﬁ%ﬁ%x ( X mES 34 ) e e e w

==

5
$
!
{
: 5
\
|
)
4 416 §
. e . : |
S kE._—__Er_%— D S s — g S
NO.187 N % = Es 518 NoJ88 —
0 FTEHHERESR - F c 20
T — —
* ( ______
U 1
iyg S
B N
=/ 8 ¥ o .
E’ .
S 1 A e T .
= — — - ?
% .X—66967.338 - 1 B
Y=—40773.579 - L ——
- o T T T T 1y
ﬁ ] BE Vo L

%) AT B

\ )
A o\
1 : 500 *

0 10 20 30 40 50M 15.00
h:l:l:l:l [ [ [ [ ] ]
/| +9, . —
*ﬁﬂ‘ﬁ' S=1:100 10. 00 |
NO. 187 (EEHAEMEER - F T IFER) - il il
5.00 |
GL=11.978 0.00 | —
ava _
/ % g _
o S T ~5.00 |
D
~ —
H=1:1000 _
DL=-10. 00 |
fets 3 - Ay :
E'z%*ﬁ:la S=1:50 03600 1.4%0 256.418m 03600 0.9% 273.942m
BIIX 42 IR 799. 659m
#i B
o I X @ T EEEERE - TS tER
c %R
EEREE C
| | | | | [ T T 1 | HE ﬂ]
RCET A2 b 3 2 g S = 222 8
+ # Y © < S S < ©So = 53
~ ~ ~ [ee) [ ©0c0C0 [<-)
&
[T | | | | | [ T 1 1 |
2222e 3 2 5 g 33 23 N :
- et = = o i e i i
[T | | | | | [ T 1 1 |
2 25 2 2 i 2 332 3L 3 g
e = ™ N N — o S o —_——— —_— — o &
5 E S s oS o = = S S Soo S S £ g
| | | | |
[T | | | | | [ T 1 1 |
TROLS = = = = i 23 = TR
. o SO ANANANO o o o o OO O o
18N FR —memeno o o o o oo =] o —
NN S ey = < ST 23 s Tt
[T | | | | | [ T T 1 |
—oONNS o o o o ~ouay o — o
<O +——<F S S S S DLOLD I g=N S 3
. oOANOO~ o o o o MmO O Lo ™M o
X FEl EE B ——SSo o o o o WSo3es ©— o A
< et Lo Lo Lo Lo — [aN] Lo
[T | | | | | [ T 1 1 |
; ~—~LO (=} ~ [ee) S 80 —
SH OO0 0 O [ee] (o] (o] (o] SDHDHO © D o
#@ 0A = ~ — ~ ~ oo o ~ N
RCES A > b 532 =) = = g e b= =




MERSI—F| X % 1E th 5 48 NP EEE S *E*ﬁ“lfﬁiﬂi?ﬂ(ﬁﬁ 34 39 36

GA EREMER g B £42 IRX 14 ﬁﬁ%&zzﬁ%ﬁfﬁﬁy ( &[E]%% 35 ) BHEs £ OB % @

==

ST ¥k

\ — S 1 =P L oo NOg® 03600 1.0% 263g]17m

- b¢Q
- (&%) - - T . 40 0 SP.,'40 EC 40 NO.I1S4
hog% € D s "9 1P40° °
° i 03600 0.9%0 273 924m ¥ .
TERFEORE  F 68

D A .
= B NG —
I = ' = > e 1
. | F=%s0
i | — r
Y N\
)BT BERTISR \ 5«>i,éal3ﬁ
IA=2-1-40 VR
e R = 360.000 \\
0=3.11 TL= 6.371
b= 6.50 cL= 12.740
c=8.53 sL= 0.056
////\
- \
\ \ AL
‘ \ X=—66750. 112

Y=—40742.947

0 10 20 30 40 5|0M

FEBTE s=1:100
A
NO. 193 (X E# A ERIZER - F7IEHR)

15.00
10.00 |
GL=12. 564 N
As | mi
/ 5.00 |
o - -
2 D .
CD' —
0.00 —
o _
Y o
c§ B ~5.00 |
in - YV |
>
H=1:1000 |
3 ST _
%&E*ﬁm S=1:50 DL=-10. 00
RCES A
03600 0.9%0 273.924m 03600 1.0% 263.117m
c HBITRX 42 T 799. 659m
v Hhfz
& X Q) TEAERERE - FHIER 05 TEHHERERE - FHIKE 323
F£A
EEREE C
| | | | | | | | | | | HE *u
(=] (9] Lo — ™ ~ r~ N (@] (a>)
[<e) Lo ™ O ~ ™~ © 0 I —
+ #wm Y . N N NN NN N @ o« 53
(o] [ee] (o] (o] (o] o0 ©0 (o] (o] (o]
&
| | | | | | | | | | |
N <t <t o (o] 0 ™M < (o] ~ [{=) 8
N (ap) [{=] — [ap] <+ < o (=] — Lo
o ™ o o N A o N ™ N
| | | | | | | | | | |
© N [«>) D Lo - O N —— [ee] ~ _
o e ® Q ~ S - 3 = pipa L X HE
BE® o S = S S oo S So S o = A
| | | | | | | | | | |
S S S S 83 R8 S &3 S S F K
. o o o o » ™ ~ O o Lo o o
BANEEEHE s o o — o < o o o o o —
8 3 @ 83 3R = = 2 3 Tt
[a>] (@] [a>] [a>] [a>] D O (a>] [a>] D [e>) ﬂz
| | | | | | | | | | |
o (=) o [ap) o o~ o ™ ~ o
S S S S =< ~ © S 13e) © S 3
N S S S S »m ™ N S Lo < S
X EE B o o o ~ © © 5 o N ~ o A
o Lo o [ap] o N N Lo
RCEHF Ak I | | T T 1 | | | I
™
> S R o o o> R B S = -
A A ~ ~ ~ N ~ N ~ ~ =2
’ m o o o (SN - o N o o
= = = [a'a] [95] w = = + = =




MERXRSO—F

X 73 88 h 5 %A N G 5

TIT HRIIGRET/KES

GA

e E SR = = 'sfﬁj} TR

14,15 FEEXFEHtETE ( Hm#&ES 36 )

35

36

37

BHE4a £ = R
X=-66413.925
Y=-40667.144 .~
Eegre 03600 1.0% 263.117m NoF°°
IA=25-33-19 EERE - ¥, =0 .
R=120.000 1‘_%_—: _______ : ) . ‘T— T ~_l._9’ eyé
TL= 27.214 ) . R — M —— 0 \ :
CL= 53.522 ’
\ SL= 3.047
Ian=14-59-58
R =120.000
67 X=—66545.ZQI ) TL=x15.798
Y=—40721.414 OL=431.414 X =-66497.077 A
S sL= 1.63s Y=-40691.8
/] S, .
FEBT s=1:100
EC. 42 (X EhHERER - F UG 00
10.00 |
GL=12. 324 _
;ﬁur T r@/ _
5.00
/ ===
o _
© p—
'\. pa—
0.00 — — -
- _
é&’ I _
= \Ti =5.00 |
1
H=1:1000 _
DL=-10. 00 |
RCES A > 03600 1.0% 263.117m [13400 X 3400 0.8%. 313.894m
s 3 T oq -
E"EJ%JE S=1:50 WITRX 42 T 799. 659m N IR 313. 894m
iz
S AXE 05 TE S EEEE - T7IEE 1ERL
L3 %R
EEREE C F
| | | | | | | | | | | EE *l]
D o — (a>] <t — [ee]ee] Lo (ap] o <t
+ 4% Y & & N N Rk & 33 © 3 & 2 53
| | | | | | | | | il | |
[{=) <t — Lo (=) o [\[ee] <t O <t AN AN < N © 8
W g = 3 S B S = s = S ® SI8S8 8 & A
. o o o o o NN o o SENENENIEN o
| | | | | | | | | il | |
~ < (] (o] [{e] D <<t D ™D o O N N _
(o] o [ap] [ap] Lo [{=] [ee]ee] D (o] ~ r~ [e) N EJ:J o
EES = 2 © © = o ® © e @ °>. =
B ‘E = o o o O o [e) OO o o o O o o ﬂi ﬁ
| | | | | | | | | il | |
(=) ~ o O D — 0O Lo o o I IO © [e) o 7 o
S = g S < = &8 2 S ggse 8 S R
BANEEEE o ~ = o < oo o o Lo~ o o _
2 2 S S 3 S5 S S I8 8 = 7T
| | | | | | | | | I | |
o ~ — N D N ~aN Lo Lo o<t r—+— <t o
. 8 2 2 8 2 0§ =2 2 = SHARIEI: 8 S
X EE B o ~ © © o o~ o o < === o B
Lo — N N — — — (ap] (ap] — Lo
| | | | | | | | | il | |
o
g — ~— g ~— N Ng N 8 8(‘00’)0’) 5 S ° o
A & - ~ N ~ A ~ > R ~ R—2
RCEZ A R = R S 2 2 R 52 2 = PRSI 2 =




